BLR-1.1M

B RH A ZEFT [ 5

A for {5 /Rs
[] 4

o BT
® HiHER
® BLE-1M hustal

[] FE:HAER

R & E 100~1000kg 1mV/V
1000kg Bl L 1.5mV/V

3E % M +05%R0O
MEIRE: 0.5%R0O
ESHIRE: 0.5%RO
1reg Pl 6400

BIENERE: 5% 10V(AC & DO)

HE 19VIAC W DC
TAERE: 10~ +55°C
BEFRITL: 0.4%R0/N10°C
FIFHEREE S 20%RL
A B 1t 0.02MPa(BLR-1M)
H#: RO A CRHMETLE —10V)

;BLR-1M)

RL MU ARMIA g=9.80665m/9%)

B Foxit PDF Editor 8535

B2 i (c) by Foxit Software Company, 2003 - 2009

RH T

] semeg
%) = o= ERFmm R
kg $ xLXW R
BLR-1/100 100 ¢ 52 % 84 X 68 M16x 1.5
BLR-1/150 150 ¢ 52X 84 X 68 M16x1.5
BLR~1/200 200 ¢ 52X 84 %68 M16%1.5
BLR-1/300 200 $52x84x68 | M16X1.5
BLR-1/500 500 PH2XB4xE8 | M1BXE.5
BLR-1/700 700 $52xB84XE68 | M16X 1.5
BLR-1/1000 1000 $52x84%68 | ML6X15
BLR-1/1500 1500 $70x115X90 | M24x1.5
BLER-1/2000 2000 H70X115x90 | M24X1.5
BLR-1/3000 3000 pT0x115%90 | M24x1.5
BLR-1/5000 5000 GT0x115%x90 | M24X15
BLR-1/7000 7000 d70x115%90 | M24x1.5
BLR-1/10000 10000 $90X160X110 | M3Gx3
BLR-1/15000 15000 HO0X160x110 | M36x3
BLR-1/20000 20000 GO0x160x110 | M3IEX3
BLR-1/30000 30000 | $117X210x1320 | M45x 4.5
BLR~1/50000 50000 $117x210X132 | M45X4.5
BLR-1/70000 70000 $130x224 X145 | M56X4
BLR-1/100000 100000 | $130x224X 145 | M56X4
BLR-1/M/200 0~ 200 PE56X90x82 | M16X 1.3
BLR-1/M/300 0~300 ¢ 56X 90 x 82 MI16x 1.6
BLR-1/M/500 0~ 500 BREXMWXE2 | MI6X 1.5
BLR=1/M/700 0~ 700 ¢56XB0%82 | MIGX L5
BLR-1/M/1000 | 0~1000 PE6x00x82 | M16Xx1.5

[] sMERRER B mm
® BLR-1
- —o- " —y
]
e BLR-1M

]
= ]—— BLR—1M q q—
o

_¢20

-—
=Y

(EA R i LS )




